5 _ 4

_ 1 [ow No. R4+1TO02—25

RoHS COMPLIANT

— ©0.522 [13.26]

p

LOGO AREA
(IF APPLICABLE)

& 1.800 [45.72]

REV ECO NO. DATE BY | APP’D

PER ECO 001

#4—40 X 7/16" FILUSTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — EBRIGHT ZINC

QTY: 2 EACH

AN

- L 0.710 [18.03]

L

\ A

/ COVER HALVES

\\\\

~—— #4-40 #2 BLANK HEX NUT
MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTy: 2 EACH

“#4—40 X 1/2" FILLISTER HEAD CAPTIVE SCREW C

MATERIAL — STEEL
FINISH — BRIGHT ZINC
aTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL —
FINISH — BRIGHT ZINC

QTY: 2 EACH
] 8
J | _ ﬂ
2.090 ?u.u&\l_ 0.640 [16.25] w
CONNECTOR COVER: m
1.MATERIAL: ABS COMPOUND — UL94HB N
2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T C00500 _
3.DIMENSIONS: INCHES [MM]
4. TOLERANCE: +0.015 [0.381] %
CONFIDENTIAL EGAL
ELECTROMICS INC.
© Copyright 2015 Regal Electronics, Inc. §<§ Au\»mm\a TLE:
This drawing is the property of Regal -
Electronics and contains confidential in— CHECKED: DATE D—SUB CONNECTOR A
formation, trade secret information and/or ENGINEER: DATE BACKSHELL 25P
know—how which is the property of Regal
Electronics. By accepting this drawing, the APPROVED: DATE =
recipient agrees not to provide, or otherwise SIZE ~ |DRAWING No.
make available, the drawing or any informa— |APPROVED: DATE B R4102—25 >
tion or know—how embodied therein, to any SCALE.
third party without prior written authorization. |APPROVED: T I'NONE SHEET 1| oF ]

3 2



